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Flächeninhalt und Bevölkerung der europäischen Staaten.
cm. Einw.

1. Rußland . 100,429 - 63,932,000

2. Skandinavien .. . 13,800 = 5,129,000

3. Oesterreich . 11,750 - 37,900,000

4. Deutschland.... . 11,461 - 44,375,000

5. Frankreich . 10,034 - 37,500,000

6. Türkei . 9,770 — 15,000,000

7. Spanien . 8,600 - 15,454,000

8. England . 5,774 - 29,031,300

9. Preußen . 5,103 - 18,500,000

10. Italien . 5,139 - 23,000,000

11. Dänemark . 2,956 — 2,600,000

12. Portugal . 1,772 - 3,566,000

13. Baicrn . 1,387 - 4,615,000

14. Griechenland ... 900 = 1,003,000

15. Schweiz 725 — 2,500,000

16. Hannover 698 = 1,843,900

17. Niederlande- 641 - 3,500,000

18. Belgien 536 — 4,623,000

19. Würtemberg- 354 - 1,690,000

20. Baden 278 — 1,315,000

21. Sachsen 271 - 2,122,000

22. Meckl.-Schwerin . 244 = 512,000

23. Kurhessen 173 - 736,300
24. Großh. Hessen.., 153 = 854,000
25. Oldenburg . 114 — 294,000

UM. Einw.
26. Nassau 85 = 439,400

27. Braunschweig 67 = 273,000

28. Sachsen-Weimar 66 = 267,000

29. Ionische Republik 61 = 234,000

30. Meckl.-Strelitz 49 = 99,600

31. Sachsen-Meiningen- 43 = 168,800

32. Sachsen-Gotha 36 = 153,800

33. Anhalt-Dessau-Köthen .. 28 = 119,500

34. Sachsen-Altenburg 24 = 134,600

35. Waldeck 21 = 57,500

36. Lippe 20 = 106,000

37. Schwarzburg-Rudolstadt. 17 = 70,000

38. Schwarzb.-Sonderöhausen 15 = 62,900

39. Reust, jüngere Linie- 15 = 81,800

40. Anhalt-Bernburg 15 = 56,000

41. Schaumburg 8 = 30,100

42. Lübeck 6 = 49,300

43. Hamburg 6z = 222,500

44. Reust, ältere Linie . 6 = 39,300

45. Bremen 3z = 92,000

46. Hessen-Homburg 5 = 25,000

47. Liechtenstein 3 = 7,150

48. Frankfurt a. M lf = 79,000

49. San Marino 1 = 7,800


